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* : INSTRUCTIONS :
All qu&stlons in the Test are multiple choice quesﬂons

Each question carrigs pne mark, with four alternatives out of which one answer 1s
correct.

There will be mo negalive marking,
- Use only BLUEIBLACK Ball Point Pen to darken the appropriate oval.

Mark your response only at the appropriate space against the number oorrespondmg to
the question while answering on the OMR Response Sheet.

Marking more than one response shall be treated as wrong response.

Mark your response by completely darkening the relevant oval. The Mark should be
dark and the oval should be completely filled.

Use of calculator, Mobile is strictly prohibited and use of these shall lead to
disqualification. '

The candidate MUST remove the last Carbon copy (Candidate’s copy) of OMR after
completion of Test.

The question paper will be both in Engllsh & Punjabi. In case of any doubt, English
version will be taken as final.

é.per.u (Commerce) - D ||"|I|||"||I




1. Which of the rate is not determined by RBI ?

(@) Bank rate ®) CRR (© SLR @ PR
fagst @9 = fsguras RBI goirar &t stz ater 3 | B S
(a Faes () CRR (¢} SLR (d PLR

2.  What is ‘Green Banking’ ?
(a) ~ Bank financing on pro environment projects
- (b) - Bank financing to agriculture
(c) Bank financing to irrigation
(d) Al bank financing to farmers

‘Is et 3 2 | -

@ ¥WITees fhect @3RI os (b)) Ny it at RS R

() ¥= fhost st fdg 59 o () 7AYot S R R o
3. RuPay’is | |

() New Currency of RBI - (b)) Card Payment Network

(c) New name of credit cards of bank = (d) Credit card to farmers '_
Lg.a’a. . .
(2 RBIH st =@ - (b) IS TS ey

© ¥I23fse T9s o aet aw @) fare = 3fsz ags
4.  Which of the following is not helpful in controlling money supply ?
(2)  Free market policy () CRR _
() Bankrate | (d) Change in margin requirements
aar%ﬁwfééﬁaavywéyaérgﬁmmmﬁamﬁaaﬁﬁ ?
(a) B33 W A (b) CRR ' -
() ¥aew ‘ (@ A3 Agest Ry ufgeasy

S.  An empirical study on relationship between the rate of money increase and rate of
unemployment in the economy was given by

(a) A.W. Phillips | (b) J.M.Keynes
(¢) R.F.Kahn (d) Emst Engel

»m&mﬁauwe@-ﬂean@ﬁgﬂmé%ﬁmﬁﬁu‘éﬁaqﬁaﬁummﬁ
237 fapur it .

(a) SfER. fefmy anpgr | (®) A, 50 DA
(c) Wi, WE TI5 gorgr (d) »TBAE NFS oargr
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8.

10.

11.

In Nominal GDP is equal to real GDP, then

(a) The GDP deflator is equal to zero (b) The GDP deflator is equal to one

(c) *The GDP deflator is less than one (d) None of the above

H5g 5fHa% GDP niA® GDP @ 959 o, feg .

(@ "GDP fseica figg ¥m9wad (o) GDP fsedea @ 1 599 D
() GDP fszdes fer Fule d @ Gz adtadt -

Inflationary gap measures the excess of aggregate expenditure over the aggregate supply:

(a) Before full employment (b) At full employment |

(¢) Beyond full employment (@ Both (a)and ®) |

mmmm@mmgﬁ?mm%

(@) Y35 gFaTg 3 ufoes () YIB I3

© u‘cl?;am?m | @ @3 b

In Cobb-Douglas productlon function the elasticity of substitution between factors

(@) Zero (b) Equal to one

(c) Greater than one R (d) Less than one

arg-3awH §3ues ane g, AUt fegars yisrams &od G

() fAes . (b) ffa e :CR:-T S

© f=¥sm @ FaFue

AfallmthepnoeofXﬁ'om? 12to!'8¢ausesan1ncreasemthequant1tyondemanded _
from 900 to 1100 units, X and Y are: . :

(@ Compliments (b) Normal goods (c) Substltutes ~ (d)- Inferior goods
X Thg & oS 129w 3ued swﬁMYmém@mmWE{

- Fg X 1100 feardnrt J AT Y X3 Y T5:

(8 Y& (b) AUGS FAST | (©) yShEus (d) m-c‘lmf CaE
A horizonta! supply curve indicates an elasticity of supply that equals |

(3) Zero () Infinity () One 4 d -1

= B2t 1 Fur ToR S I e & B o

(a) fR=w by "33 © f&= - @ -1

Taxes which levied entu'ely on the basis of the money value of the goods are: '

” '(a) Speclﬁc taxes (b) Advalorem taxes (¢) Incometax  (d) EXC]SC duty

mﬁmﬁém%mﬁa%émémw@aﬁ
@ fefmezs O AT AT (€) MHES I @) Here 58&
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12.

13.

14,

ls.

16.

17,

The administrative aspect of a tax are :

(a) Canons of taxation _ (b) Principles of taxation

{c) Characteristics of taxation (d) Concepts of taxation B
féa 79 o yduelt ty -
(a) &I T P9 (b) =TIUs e fAaE

(c) oOTs Tt femmset (d) sas Eit agsTe
Expenditure tax was imposed in 1958 on the recommendations of :

(a) Adam Smith (b) H Dalton

(¢) Prof Kaldor (d) ProfPigon

1958 &5 ug9 a9 fere frerfam ‘S sanfenr famor

(a) »39Rfim | ) 9. TS

(©) Ue. a3 @ Uz fims

In both the Chamberlin and the Kinked Demand Curve models, the Oligopolists:
(a) Recognizes their interdependence (b) Do not collude

(c) Tend to keep prices constant (d) All of the above

(@) Ut ni39fETgTT fanels a3 T5 (b) I A T8

(c) oH3T AT Juz g Tt v o5 (@) ©Gudaz A9

When the perfectly competitive firm and industry are both in long run equilibrium ?
(a) P=MR=SMC=LMC (b) P=MR=SAC=LAC

(c)' P = MR = Lowest point on LAC curve (d) All of the above

Y5 HaTEsT S9H v Getial 3 diow o Ao € Aftst Rg & 9@ 95 9
(a) P=MR=SMC=LMC (b) P=MR=SAC=LAC

() P=MR=LACT@ v fs@avfiy (@) Buismmy

When o = 3/4 and f = 1/4 for the Cobb-Douglas production function, returns to scale are :

(a) Constant ' \ (b) Increasing
(¢) Decreasing (d) First increasing then decreasing
. TE-3IBA Y3Us ST B 7Y o = 34 M3 B = 1/4, I3 2 yfsew I=:
(ay nigg (b)) <Twe
(o) uew (d) ufost Fgo feg uizd
The LAC curve is tangent to the lowest point on the SAC curve when LAC curve is falling
(a) Always (b) Never (c) Sometimes (d) Cannot say

LAC Ua3 SAC 759 ‘3 fo@asm fifg ‘T RUSH el J A€ LAC ulz ot 3t 9

(@) T (b) =2 &R (¢ &t e (d) foor ¢ 7 meer
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18.

19.

20.

21.

22.

23.

Kinked demand curve is related with

(a) Monopoly . (b) Discriminating monopoly

(c) OIigopoly (d) Perfect Competition

8= Va1 <og AEUS 9 ¢

(a) TIN5 ‘ ) 3Sous Sfuey 56

() YEHUTIS 3% (@ u3Is HOES &%

Who is the custodian of monetary reserves in India ?

(a) SBI (b) SIDBI (¢) NABARD (d) RBI

ga3 g Hefea Sse o dftm@ 32 9 7 |

(a) SBI (). SIDBI () NABARD (d) RBI

Balance of invisible includes

(a) Export of services (b) Import of services

(c) Both (a) and (b) o - (d) None of these

(a) A= v feams (b) FI= T TS

€) T (@13 () @) Sudws et &t

Which of the following is not an instrument of monetary policy ?

(a) Deficit financing (b) Statutory liquidity ratio

(c) Cash Reserve Ratio (d) Open market operation

Sot fofantt f45 foow Hefix Aft T AT st I 1

(@) we & fe3 feerer (b) Feged T nigu'3

(c) om fowa= nigurs (@ YSort gAg fxfanret

The Gold Standard exchangé system prévailed in

(a) Between 1860 and 1910 (b) Between 1910 and 1939

(c) Between 1880and 1940 . (d Between 1914 and 1939

s H2S9s WaASH YIS yoes H : |

(a) 1860 »21910 fegard ®) 1910 »31939 fegag

(c) 1880 m31940 fegara @ 1914 m31939 fegars

Multiple stratified random sampling is '

(a) Probability sampling (b) Selective sampling

(¢) Non probability sampling (d) None of the above
s ARdeEts Yeu Ruféa 3

(@) yafafsd Aufda (b) RRafes Rufda

© Fg-yafafsdt Rufder @ Budss At &t
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24, If the sample size increases the samplmg error

" (a) * Decreases ' o (b) Increases Rl

(¢) Remains constant ' (d) Noneoftheabove .:
(@ ueHy ) Fuet RN
(c) FEgIfdFEtas @) Sudaz agt &t

25. F-test is used to test the significance of the difference between/ among *
(@ Two sample mean (b) More than two sample mean
(c) Variable of two sample (d (b)and(c)
F%@wmmmﬁmammmaﬂywa
(a € AU Fos : ®) €3 Jghus Hues -
© TMBTT @ O

26. Which of the following are the characteristics of a data
(a) Aggregate of fact - (b) - Numerical expression
(c) Aﬂ'ected by varymg cause (d) All of the above
(@ SEedaes (b)) Ffmmseg wifsfenirs

L (o) 3EE e yares @) Guia3 A ‘
~ 27.  Chi-square test is expressed as | o '

@ ¥ ® X © ¥y @ 7
@ r£orT . @) Pore () Yo (@ PoT

28. Co-efficient of correlatives will always be |
(@) More than 0 o (b) Morethan-1
(©) Lessthan-1 (d) Between—1 and + 1
Afa Adat & gztar Jqr

@ 03 b -13FFW (9 -1Fue (d) -1m3+1 fegag
29. Which of the following are not the lmntatlons of statistics ? - '
 (a) Homogeneous statistical data - :

(b) Analysis of data

(c) Presentation of means

(d) Statistics are true in the long un and on average

It (fanit &9 farodt Rifimst & /i &t 3 9 |
(@) AHIH Afini 53 () ma%mrarfem%nz S
(c) YRR O YyooEs - (@) Attt Sow o R angs A 9 Y
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30.

31.

32.

33.

35,

Which of the following is/are the characterstics of Karl Pearson’s coefficient of co relation

(a) indication of degree (b)  Indicators of the direction
(¢) Satisfactory measure (d) All of the above

Yot ot f¥5° faast arow Uinars RfgRET i & feREaT O

(a) foomt T Aa3 ) femrerRa3

(c) SHEEemE WY d) €uIa3 A

T-testis a

(a) Parametric test ' _ (b) Non parametric test

(c) Large sample test (d) None of the above

T2ne Y : | |

(a) T banflefox 2re ) ¥ 9~ danfefox 2re
(¢ fems Rus 2R (@ Guda3s ag &t

Data collected from the published books are called
(a) Primarydata  (b) Secondary data (c) Tertiary data (d) None of the above
(a) WeB a3 ®) J=na3 © zImAvas (@) SuIa3 LIt

Data integrity refers to the

(a) Simplicity of data ' (b) Privacy of data

(c) Validity of data (d) Security of data
vigfout S mdszr 3 e I

(a) widfanit & OB (b) Wit St forsr
(c) wiafanit St ¥uzT : (d) it & gIfer

As the value of x increases and the value of y decreases, then the coefficient of correlation
will be '

(a) Positive (b) Negative (c) Zero ‘ (d) None of the above

x T §F T I o y @ i uieer 9, 3t ifg /¥ @ gt gvar

(a) TSBHA ®) foE== () fred @ Sudas et &t

Which average would be suitable to find the average size of readymade garments ? |

(a) Mean (b) Mode (¢) Median (d) Arithmetic mean

AtivE Sufimet T WiFE WY 33T wet Quaas WiRS fradt 9T

(a) WiF3 (b) =TI (©) Mm@ (@) vieated oS
? ‘ . Paper-I1 (Commerce)




36.

37.

38.

39.

40,

41.

Which average would be suitable when quantities of variable are in ratios:

(@) Mean (b) Mode : (¢) Median - (d) None of these
7E € 99 € 3o nigus &9 get © 3t faudt vins Gugas dvdt: e
(a) HoH® (b) =g& " (¢) Hftmer d) ﬁzaaf ﬁa‘aa &It
Median can be calculated from ,
(a) Individual series (b) Discrete series
(c) Continuous series (d) All of the above
Hitmar €t aiesr Jlist 7 Aeet 3 |
@ fordtas s 3 - ) dssES
(@ fdzesdts | (@) Buds3 A
From which formula mode can be calculated :
(a) 2 median -3 mean (b) 3 median—2 mean
{c) 3 median - 2 median (d) 2mean- 2 median
Fgedl € ST foA TS T St AT Aet 3
(@) 2w -3 Hous () 3 ¥ftmr -2 Wows
() 2 Hftmiar- 3 ¥iftmr ' (d) 2 Hoqs -2 Hftmer
Semi interquartile range is also known as : _
(@) Mean deviation i (b) Standard deviation
(¢) Quartile deviation (d) Quartile range
it nizgegesa ferare & foa & fxor miwr D
(a) Hufeuss M) Yy feows
(0 T3 fuss (d) Y39ua ferag
Which of the following is the characteristic of index number ?
(a) Expressed in percentage (b) Comparative measurement
(c) Measure of changes (d) All of the above
ot Fofamit 5 faraeft e viart ot i
(2 Y3 Y vamst 7t 3 (b) IHESHI HY
© STy d) SuIT3 A
The synonymous of consumer price index is :
(a) Weighted index (b) Welfare index
(¢) Cost of living index '(d) None of the abave
QugarsT dH=E g Mgt e AHaTaET %r . : '
@ T3 Foa i ®) dfenrE goa nig
(¢) s H93 go wix (@ Budaz ast &t
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42, Ifthe two regression co efficient are 0.8 and 0.2 , then the value of coefficient of correlation is :

(ay +0.16 ®) -040 (c) -0.16 (d) +0.40
\ ﬁga%qé\maaan‘iao.srnéo.zmBaﬁfénﬁfﬁéué-aa‘ra@w%: -
(a +0.16 (b) -040 (© - 016 (d +040

43. Which of the following is not a measure of dispersion ?

(a) Skewness | (b) Mean deviation
(c) Standard deviation -' (d) Quartile deviation
Yo+ fifamtt 5 fixaar YA & W & D 7 )
@ fEREew ) o fees
(0 ymufesme (@ T3TE e
44. Which average is better for the construction of index numbers out of the following
(a) Arithmetic mean . (b) Geometric mean
(c) Median - (d) Both (a) and (c)
7% it & fras ot 3ot it F5° foradt s R 3 7
(@) wia afEdt HoH's ®) gt afet Hows
() Wt @ @O
45.  Which price index formula is considered ideal among the following
(a) P;.asche’s price index - | (b) Dorbish-bowley pﬁce index
(c) Fisher’s price index (d) None of the above
aarfémﬁ%ﬁaafaﬁmaaamamuwm@aﬂﬁww%?
@ um TehE e () BafeE-mes T ST FeR A
,(c) feme @ dhi3g Fo& Mid @ &3 3 &
46. Which of the following is the rciative measure of the skewness ?
(a) Mean — médian _ (b) Mean-mode
() Q3+Ql-2MD (d) Mean—mode/SD. -
Yot fofamit 25 forowr fsaRuE oA U T
(a) O — HftmieT (b) HUHS — B
(¢ Q3+Ql-2MD (@) WoHs —-8gsa/ 8.D.
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47.

48.

49.

50.

Sl

Which of the following does not characterize business activity ?

(a) Production of goods and services ‘

(b) Presence of risk ' , _
(c) Sale and exchange of goods and services e
(d) Salary or wages o
ot fafanr 5 faomr aue fafonr é fermar s Eer ¢

(a) Tt 3 Reve © @3uws ®) #fuH S Je

(c) A w3 AT 3T 03 TS (d) 3ET F HAgdr

PSE’s are organizations owned by :

(a) Joint Hindu Family | (b) Govemnment
(¢) Foreign Company (d) Private Entrepreneur
PSE FRETt 35 w niftarfas Jdinr s | |
(8 FRwaz iy ufees ourar (b) FIIT T
(c) feomt Just enrar - (d) &7 € onrar
The minimum number of members required for registration of a co-operative society are:
(a) Two (b) Seven (c) Ten (d) Twenty
mmamwmmﬁmmma
@ & ®) H ) ©m @ v

A public limited company can start business after
(a) Incorporation

(b) After promotion

(¢)  After registration

(d)  After certificate of commencement of business

fea vafea fattfes durt <z 5g o9 Aot

(@ FFEs T ame (b) I I3 I

(c) IRES I s (d) <HE i98 J95 ® YW= U3T T ampm
Which of the following types of business organizations has a ‘separate legal entity’ ?

(@) Joint Hindu Family Business ~ (b) Partnership

(c) Joint Stock Company o (d) None of the Above
ﬁaﬁ@wﬁ’vﬁaﬁﬁmém%ﬁm@féﬁmmwﬁ

(a) Ruas g ufgeg zue b) T3

(©) wrféz Ao st W) &3 ad s
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52.

53,

55.

57.

Registration is not essential in case of

(2) Company (b) Co-operative organization .
() Co-operative society () Business of Hindu Undivided Family
IfmAeHs Agdt a4t & |
(@) st w () -Afgardt Arer wgt -
(¢©) nfgardt Arfeet st ' (&) niEd3 fig ufges T sua &t
In a private company, there are restricﬁons regarding:
(a) Transfer of shares (b) - Issue of prospectus
() - Number of members - “(d)-  All of the above
(@) BnEt T ORSEIE | ®) yraeR At aEs
(@ Wuet @ for @ QRTEY

The maximum number of members of a Private company under The Compames Act 2013,
has been changed from 50 to

@ 75 S 100 © 125 @ 200
mmzolsmﬁmﬁmmsozmaawﬁ

(@ 75 (b) 100 (© 125 . (d 200

A co—operative society is required to be registered under the Co-operative Socities Act

(a) 1932 | () 1952 | (c) 1956 (@ 1912
fea Afgardt AFfedt § A-nmifes Ffedta wiee nr&l?;amﬂzaazétm%r

(a) 1932 () 1952 © 1956 @ 1912

Which of the following cannot be classified as objectives of business ?
(a) Investment  (b) Productivity (¢) Profit-ecarning (d) Innovation
W%&wﬁ%ﬁﬁamm%@%eﬁa‘éﬂaﬂ?wm% ?

(@) fo<m b) SsuwEs (0 FIIGT (@) FUEEEH
Which of these is not included as a separate item in the basic accounting -equétion ?.
(a) Assets ' _ - {(b) Revenues '
(¢©) Liabilities ' : (d) Stock-holders’ equity
mmm%mﬁamamm@m %Hrﬁ-wsa:ﬁaﬂs'rw 7
(@) RuSt o (b) »HES
(c) =TIt | (@ nAeE-dwss @ el
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59.

61.

62.

The accrual basis of accounting records revenues when they are: St

(a) Collected ~(b) Eamed
(c¢) Contracted ' (d) Readily available for use
BHFE T T T 4S AUz wmEs f9ares a9er 3 7 Q9 ’

(@ T it w5 (b) Tt ARt T
(c) Hafezs ot Aidnt o5 (@ =33 &t Qumsy Jei s
' The unfavourable balance of P & L account should be: ,
(@) Added in Liabilities (b) Subtracted from Current Assets
(c) Subtracted from Capital (d) Subtracted from Liabilities
P 3 L 3 ¥ yf3gs Az®s e odter 3 ¢ ,
(a) vaodnit ¥ mfis (b) TF AuSHt 5 we@e
© U RY wege @ Gudas A
Which type of Expenses are paid out of gross Profit ?
(8) General expenses " (b) Financed Expenses
(¢) Selling expenses "~ (d) All of the above
& &g 99 fan yor9 @ wafoit o gasw atzr e 3§ 9

(@ AU b) R b
(c) feadtuge (@) Qudaz A

Sale of goods to Taman is wrongly debited to Daman’s account. Both are debtors of
business. This is an example of:

(a) Error of Omission ~ (b) Error of Commission
(c)  Error of Principle ' (d)  Error of Original Entry

o5 3 TR & fodt st a1 e @ w3 R et Wit 31 98 f eurg @ dwarg
T | fea f¥a Qorgaz 3 | '

(a) nifoodt & g - (b)) FHEs © IS S

(c) fro3 & 33t & (@) Hisx fEegw & 35t &t

The process of allocating the cost of an intangible asset over its useful life is called:

(a) Depletion (b) Impairment (c) Depreciation (d) Amortization
%%M%wmﬁmmmﬁmwﬁ%

(a) U FTE ) fears © ¥BwWE () o T e
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Which of the following item will not appear in the cash-flow from operating activities

seg:tion when using director method ? ,

(a) Payment of Suppliers (b) Payment of Employees’

(¢) NetIncome ' (d) Collection from Customers

ﬁgaqﬁmmmmmmmwﬁmﬁ%mm
gt ?

(@) YyIFad T F}IS _(b) TIHTI T ZIBE
() HUrHEs (d) I AH
What does EBITDA mean ?

(a) Earnings Before Income-Tax, Depletion & Amortization

(b) Earnings Between Income-Tax, Depreciation & Amortization
{¢) Earnings Before Income-Tax, Depreciation & Amortization
(d) Earnings Before Interest, Taxes, Depreciation & Amortization

" EBITDA ¥ o »fgg 9

(a) Eamings Before Income-Tax, Depletion & Amortization

(b) Eamings Between Income-Tax, Depreciation & Amortization
(c) Earmings Before Income-Tax, Depreciation & Amortization
(d) Eamings Before Interest, Taxes, Deprectation & Amortization

How is Working- Capital calculated ?
(a) WC = Shareholders’ Equity & long-term debts — Fixed Assets

- (b) WC =Fixed Assets — Current Assets

(¢) WC = Shareholders’ Equity and Long-term debts + Fixed Assets
(d) WC =Fixed Assets + Current Assets

983 Uit & gz fa@ At At 3 7

(a) WC = Inradesy & feafedt w3 douwadt foz - rfag Auint
(b) WC = Afag Audint - g Audinit

(© WC = imadnss & feafedt n Sowardt foz + Afaa Hudhort
(d) WC = Afag Auginft + g Rudint

How is interest-coverage ratio calculated ?

(a) Operating Income (before interest & income-tax)/ Interest expense
(b) Net Income/ Interest expense

(¢) Shareholders’ Equity/ Interest expense

(d) Long term Debts/ Interest expense

. Interest-coverage WEU3 I aiEar o=’ sligt A<t I 7

(a) riHET nmEs (faomm M3 mHES &3 3° ufas)/fen™ 439
(b) Hu nmEs/fers ¥ge |

(c) PmEIEsT ot feafedt Menm vas
@ PowasfEforauee |
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67

68.

69.

70.

i
An Opportunity Cost is :

(a) The difference between the total-cost of one altematlve and total-cost of another
alternative, 5

(B) The benefit foregone when one alternative is selected rather than another

(¢) A cost that is saved by not adopting a given alternative. ‘

(d) A cost that continues to be incurred even if there is no activity.

neAd 413 J | o
(a) feafeaméfazsmm@en%f‘eamﬁa&smfeamm o
) WWWWWMHWW%W%WW%
(¢ &I frost fa f3 o feowu § & niue & oret widt 9 "
@) @ fodt i aet fafor & 3= 3 & fsdza @S d -

Using Marginal-costing method, “contribution’ is equal to sales revenue lfess: -

(a) Direct Labour Costs " (b) Total costs

(c) Variable Costs N (d) Fixed Costs . .
ﬁ]wszeﬁvqmaraa%a% ‘ﬁa@?saaraa% feaa‘?mﬁawaﬁ |
(@ Y gt Hast b) IBFaSt |
(©) ufseasss et (d) nfig Fe=t

Shareholders’ wealth in a firm is represented by
(a) Number of people employed in a firm.

(b) Book-value of a firm’s assets less the book-value of its llablhtles

(¢) The amount of salary paid to its employees.
(d) The market price per share of common stock.
e g9 f¥T Mngurdw & Aust yeefis gt 3
(@) <9 293 Fat & frsst o

“(b) mﬁmﬂw%ﬁwﬁ%ﬁa@nﬁw%&@m%m%ama

© mmaﬁﬁmmémw |
(i) m%%ﬁa%é’rmaﬂnzw

The long-term objective of financial management is to

(a) Maximize earning per share (b) Maximize value of firm’s common stock
(¢) Maximize ROI | (d) Maximize market-share

RSt yHus o Aow TEs R D - _‘

@ yStE@ st § nifteen aesr . ()  @oH R AUNs A © NS miftieEH S9aT
(c) ROI 3 nifia=H a5t (d) fere av9-foR § mftesH 97
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n.

72,

73.

4.

Which of the following would be included in the Cash Budget ?

(a) Depréciation charges (b) Dividends
(c) Goodwill ' : (d) Patent amortization
Jot fefont &G faazr an gvc &9 Aafis 9= ¢
(8 S uE (b) @A
() Y ' (@) TR nifere U39
EOQ is the order quantxty that _ over one planning period. 7
- (a) Minimizes total ordering costs (b) Minimizes total carrying costs -
(¢) Minimizes total invéntory costs . (d) Minimizes the required safety stock

EOQ ¥ gy w39 I i firx Unrars €9
(1) BT oS § fslaanaddtd () @Wméﬁ@mm%
(c) % eng gt mamt § flaaedt 9 () o® Dt mest § fsBa3n aeet 9

The term ‘Capital — Structure’ refers to :

(a) Long-term debt, preferred stock and common stock equity
(b)  Current assets and Liabilities

() Total Assets — Liabilities

(d) Shareholders’ equity

G5  Capital Structure’ HEG3 3

@) deuads faz, ufss Rea »3 Aues Ao feafedt

(b) TF Audint M3 TETrIlt
©) IS FAuSnit ni3 STErdnit
(d) Pwig uaa & feafedt

The dividend payout ratio is equal to :

' (8) The dividend yield plus the capital gains yield.

(b) Dividends per share divided by earning per share.

(c) Dividends per share divided by par-value per share.

(d) Dividends per share divided by Current-Price per share.
SR SIEE MEU'S HIET I ‘

(2) i Aft it &3

® It BnE et Torar g Yt A HrEniE

© yI e ure N T Iyt Anig Senin

(@ Yyt P T S T I ySt BniE SN
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75.

76.

71.

78.

79.

The capital of a non-proﬁt organization is generally known as ;

(a) Equity _ (b) Accumulated Funds

(c) Cash Fund ' (d) Financial Reserve
d9-w3 HREr & Uit »ni39 3 sogEt -

(a) feafedt (b) HAfes<s

() amds (@ fetdsg

Which one of the following is a method of Good_“}il_l Evaluation ? _
(a)  Average Capital Method ' (b) Super- Capital Method
(c) Capital- Intensity Method (d) Super- Profit Method
It fefant 5 fadt Ay yotas & fx fedt 3 2

() s g fedt ®) By et

(© U ymew fedt @ pewsfad
‘Garner Vs Murray rule applies in case of : - _ :
(a) Admission of 2 partner (b) Retirement of a partner
(¢} Death of a partner (d) Dissolution of a‘ﬁlrm
Gamer Vs Murray o fer Afedt ffg oy der 9

(a) IETHET B IT 3 . () SERGIATHEIER
(¢ sEeHdHAsdES d) T fourms dz 3
BPO Stands for :

(a) Business Process Outsourcing (b) Business Process Output
() Business Privileges Outsourcing (d) Business Privileges Output
BPO Fg=d | . |
(a) Business Process Outsourcing (b) Business Process Output
(c) Business Privileges Outsourcing | (d) Business Privileges Output

The industries which provide support service to other industries are known as:

(a) Primary industries (b) Secondary industries
() Commercial industries. (d) Tertiary industries
@mmm@mamﬁamaﬂ%aﬁ IICe T5

(a) HeB Gediar ®) d= GGa

(c) U Qvnar (d) ZTESt Gt
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80.

81.

82,

83.

Which of the following is a definition of Multinational Enterprise ?

~ (a) A company headquartered in one country, but, havmg operatlons in other countries.

{b) A company operating in emerging economies. -

(c) A company employing foreign nationals.

(d) None of the above
aaﬁr%wﬁaﬁaﬁsa—amzﬁﬁenéuﬁma ?

(a) ﬁammmﬁa%ﬁaw%wwﬁa%mﬁéﬁm
() Soadinit nigafeerEet 2 W et Sudt |

() femt mafsat & dn 3 St dugt

(d) Budas at &t

An outsourcer :

(a) Is always located in a foreign country.

(b) Generates its revenue by producing for another company.
(¢) Provides recycling capabilities to the organizétion. '

(d) Only produces standardized parts.

(a) TAAT a*aaz% W dTy

(b) TS Sut BTt B3ues TR THEE YRS J9T 3

(c) FAE 3 HITISTA GaS YOS FOT &

@) froe fmrdt ot & foare aeer 9

Expanded form of IRDA is :

(a) Insurance Regulatory and Development Authority
(b) Insurance Reforms Development Authority

(c¢) Insurance Restructure Developmeﬁt Act

(d) Indian Re-insurance Development Authority
IRDA = feRfis qu 3 -

(8) Insurance Regulatory and Development Authority.
(b) Insurance Reforms Development Authority

(©) Insu_rémce Restructure Development Act

(d) Indian Re-insurance Development Authority

Which of the following Public Sector companies provides i msurance cover to exporters ?
(@ ECGC (b) NABARD (¢) SIDBI - (d) IRDA

ot it 5 faadt wose U39 et fovmar & dhr aes s aeet 3 1

(@ ECGC () NABARD (¢) SIDBI (d) IRDA
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) 85,

87.

Reconstruction of a sick public sector unit is taken up by .

(a) MOFA (b)) MOU (¢) BIFR (@) NRP

g Reeres U39 fearelt & Yaa-fsars. disr famrr 9 | o
(@ MOFAPWT () MOUPWT () BIFR§WT () NRPEmr

Disinvestment of PSEs implies:

(a) Sale of equity shares to private sector/ public
(b) Closing down '
(¢) Investing in new areas -

(d) Buying shares

PSEs @ fefsr I3 3 .

(@) feafed it & frit Ya/mesr § feadt
b) T

() &* 839 ¥ foem aga

(d) BnfE ydeE

IFRS stands for :

(a) Indian Financial Reporting Standards
(b) Indian Financial Reporting System

~ () International Financial Reporting Standards

(d) International Financial Reporting System

IFRS 3 = 3 |

(a)  Indian Financial Reporting Standards

(b) Indian Financial Reporting System _

(c) International Financial Reporting Standards

(d) International Financial Reporting System.

What is mortgage ?

(a) A security created on immovable property for a deposlt received by the bank.
(b) A security created on immovable property for a loan given by the bank.

(c) A security created on movable property for a deposit received by the bank. .

(d) A security created on movable property for a loan given by the bank
afod axratd 7

@) ¥ gorer yuz AT & new st %heraétm
(b) ﬁ‘awf?@ﬂ@e@mwmmﬁ%m

(c) a’aewafqnsﬁnaﬂaéfaama”r%m

@ ¥ e RS AE =B 85 wet 98 uEt 3 maet
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89.

9.

92.

93.

.i

Mllt?ﬂfnedman said that thqxp is only one social regpons:blhty for a oompany to use 1ts
resources for

(a) Giveasmuchto chantable causes as possnble

() }]‘:Pnsure Employment
() Increase profits as long as it remains within the rules of the game - - E

(d) Provide good facilities for the workers

ﬁmé\aﬁﬁ%ﬁmmﬁﬁamwmm?mmmﬁaw
Nt 9

(a) s T BEt fiigr Age I M =

(®) dwere e sEeE -

(© 72 3= firg 35 2 fowor nifte afdh 3, s =g

() TIHTE B T gt yETs T3 |

Management of social responsibilities includes all of the following except :
(@) Economic (b) Caretaker (c) Legal (d) Ethical
Wm%mﬁgwwwﬁﬂaﬁéwﬁmﬁm@aﬁ _
(@) »roET ® s @ . @ Bfsx

Mechanism to protect private networks from an external cyber—attack is
(a) Firewall . (b) Digital signature (c) Anti-virus ~ * (d) Formatting

{3 Bedaat § grodt Aetag oufentt 3 woEE T U39 Y

@ ofess ®) foiies aranE () Adefen - (@) T

Which type of advertisement appears on a web-page ? - _ - y
(a) Pop-upad (b) Pop-underad (¢) Banner-ad . (d) .Discountad

2u O 3 T yre o femfos yAgs der d -

@ U RS . (b) UU-MSI AT - () ABIWE (d) fera@e s

The Envuonment (Protectnon) Act was enacted in the year ' _-

(a) 1986 (b) 1992 _ (c) 1984 d 1974

IITTE (Haﬁ:mrf) ware fer /s um Sfen 1t

(@) 1986 () 1992 (c) 1984 (@ 1974 .

World Envirohment Day is celebrated on: : .

(a) December 1 (b) Junes- . {¢) ‘November5 (d) August10

fene Tr3e9s fevm worfenr aler 3 ' ‘

(@ 1forms & ® 575 3 () 53989 d 1o»rarnsra ‘
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94,

96.

9.

98.

What is the purpose of a “balanced score —card’ ? .
(@) To combine a range of qualitative and quantitative indicators of performance.
(b) To relate business performance to customer satisfaction.
(¢) To measure contribution of peopie to business growth.
(d) To relate business performance to financial measures.

o7 A3f53 Adg-aras wrat dseT 9

(a) YTIRG @ fefSs ga3na ni3 IEs3Ha poat & AGET SO0
(b) U e YTIAS § QuSTET ARt &% AFs"
(¢) U9 e fear f&U & ¥ Goes o HY 37

(@) =R yEIRs § O3 ufontt & e

What is COPRA ?

(@) Consumer Operating Protection Regulation Authority,
(b) Consumer Protection Act.

(c). Consumer Protection Authority.

(d) All of the above

COPRA & T 7

(a) Consumer Operating Protection Regulation Authority,
(b) Consumer Protection Act.

(c) Consumer Protection Authority

(d) Budaz A

Marine Insurance may cover loss or damage to the

(a) Ship (b) Cargo

(c) Any other subject of marine adventure (d) All of these

hdts gher, T8t A s § o/ed e J ¢ |

(2 WIHS b FAIATHEF

(© miTd ufdH 2 foaR 3 feR 3 @) BwdEE A

Which of the following is sequential model used to explain how advertising works ?
(a) ADD (b) AIDA (¢) PESTLE (d) SwWOT

It fefonit R foraar 333 fog waes a9 T fenfaoaantt fa2 o aoet I &6t Yo

AT AE T IEENUHEE Y 2
() ADD () AIDA (¢) PESTLE ‘(d SWOT

What is the monetary limit to file a complaint for compensation before the National
Commission under Consumer Protection Act, 1986

- (@ Upto25lakh (b) Upto50lakh (c) Upto75lakh (d) Morethan 1 crore

SusasT Fafimr mae, 1986 € »i5 IHedt »itiar OB Jond set R fiofes e
IRz Higa A &t & -

(@ 258u3a () soa?us’a (0 75343 (d) %aa%a%eru
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100.

101.

A person aggrieved by an order made by National Commission can appeal against such
order to-the: :

(a) District court (b) High court
(¢) Supreme court ' (d) None of the above

IHSS mitiar god 3 I gaH enirgr WiER fariadt mifad gad fedu famd nills &9
Ao Q

(@ fy nEss3 () €3 rEs3
(¢ FI=EY new3 d) Sudas d=t adt
Which of the following is relevant with respect to commercial bank ?
(a) Non- performing assets (b) Debit card
(¢) Home loans (d) All of these
It fiffamt fod' fxomr ouraR B @ AT ) 9
@) do-useehladme ®) 3fac a9
) BB ) Sudes A
Trial balance is prepared to check: _
(a) Equality of all assets and liabilities (b) Arithmetic accuracy of accounting
(c) Valuation of closing account (d) All types of errors

102.

103.

g 33 fenet Are a9s met gt wer 3
(@) A Fubrt w2 Yxerdht & et (b) | Surardt @ aifsfse AdtesT

(c) BEa w3 T voiaE (d) T yad St Igdhait

Some assets easily convertible into cash are called

(a) Liquidl Assets (b) Current assets

(c) Fixed assets (d) Floating assets

T AUSht niArdt &% o fF9 ufaesfss Jonr o5, Io@dntt 75 :

(@) ofes Audit - (b) TS RuSnit

(c) wfag Augh (d) Tt At

The reﬁar.d ﬁ businessman gets for bearing the risks is called:

(a) Remuneration (b) Commission (c) Bonus (d) Profit

fearn frozr fx e Qutiandt Afun Afoz Jea Yz Jeer I Fo@er 9;

(@ s ®) afiEs (¢ FmA d &3
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104.

(a) Primary sector (b) Secondary sector 2
(¢) Tertiary sector . {d) - Noneofthese - ¢
fsqurz Goliar AU O ¢ '
(a) HED 9T 5B ' (b) dFA=TBVIIFS
(©) oA ATIES @ foost e d@tadt

105. In a co-operative society, the principle foll(m‘r'ed is: | o
(@) One share one vote - . _ {b) One person qne,v-oté'__;i:_ _
(¢) Multiple votes . . - (d) Novote |
fea Afoardt AnST T fer fru3 & use it A 3 ‘
(a) f&a I fea @2 ®) feaﬁma‘ﬁf?a%
(0 w3t . (@ az?rezzr&r |

106. Steel Authority of Indla 11m1ted has whlch form of orgamsatlon .
(a) Statutory Corporation _ (b) Departmental undertakmg
() Government Company _ (d) Multinational Corporation . .
gt Féts mEedt fefes fam ya & Arr T : )
(a) FAfeusa TUTHS b fEwmaw
() RIS AUST . (d) | SgTHIS a"'q'u?m?;

107. Which of the following is not part of General Insurance ? -
(a) Marine Insurance (b) Fidelity Insurance :
(c) Fire Insurance (d) Life Insurance
Yot ffanr fd fafgr AUas d & fiw At 3 2

(a) FHES EW () fezzrshr

(©) niawat g (@) s dhr

108. Which of the following is not covered under the contract of indemnity ?
(a) = Life Insurance . (b) Fire Insurance
(c) Marine Insurance (d) All of the above
() Fies ghir o (b) e FhHr

(9 miedtEhr @ 8uigz A
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1“90

110.

111.

112.

113.

(a) Replication of code (b) Involvement of employees
{c) Establishment of compliance - (d) None of these ' '
- 7ue Qe e 35 Rt (2 fixom ity Ot ysremrt Bfisal Yo § et s e )
@ dFIdA=S (b) FTEI & geftedt
(© zIrETE @ FEnE @ P REEEsH
Legal cost incurred in case of disputed land and buil&ing i‘s‘clasgiﬁe_d as; |
(a) Operating activity () Investing activity
() Financing activity (&) Allofthe above
93 Tk Wit 3 fasfia @ Adu R St argat was § wrfew e Y
- (a) ot aEfedt - b) fsdua asfedt
(¢ feFtadtfedr @ @) Guds=z A
Average cost method of inventory valuation is suitable when there are
(@) Fallinprices | .~ (b) Risein prices
(¢) Fluctuationinprices | (d) None of the above
@) ohEtuedmtas (b)) et It O
() oo Gsm-samderd @) feost 53 & st
A very important component of management accounting is _
(a) Financial Accbuntihg' - (b) Contract Accounting
(c) Cost Accounting (d) None of these |
Yo Suardt v e ag3 ﬂasegaa ia & S
@ fRdwat = @) dddvad
() IS Byardt (@) o RS R s
Stockis: , ,
(@) Included in the category of fixed assets (b) Part of current assets
(c) Intangible . | (d) Tangible
® nﬁanuélwé’rﬁffﬁzawﬂma? Y @) TG A o I g D
© w3 (@ s -
‘ ' 3 o - Piper-ll (Cmiimerce) :

Which of the following alone can ensure effective ethics programme in a business enterprise ?




114. Identify the item that is not taken into account in computing the current ratio:-
(d) Land (b) Billsrecoverable () Cash ~ {(d) ., Bank
8 e & ug'z a3 faodt fx T wisu3 B aEe S AN fimis R &t Rt At
@ w5 ® WA GaRE () " @
115. Which factors influence ethical behaviour in business ? e
- (a) Public disclosure ~~ (b) Pressure from top executives
(¢) Inspiration from leaders (d) All of the above
=z ¥ 3fsx femog & fag3 S ygeI TR 05 7 )
(a) AIeAed AURCIRES | (b) €9 niftdnit I Tam
(0 33 IF Yux @ SEEsER '
116. Which of the following is part of capital structure ? -
(a) Equity Capital ~ (b) Preference share capital
" (¢) Debt capital (d) All of the above
It fefont &9 oz s o i d v |
(a) feafedt Urt ) QR ioig et
© 3Sfaegd (d) SuwasAs
117. Capital budgeting can be used for the purpose of ,
(@ Machinety ' () Goodwill
(¢) Raw materials (d) Land and Building
fires Faféa = yoar for 82 o5&t 3T w7 AeET
(a) writast (b) "M
(c) T HS (d) s n3 foes
" 118. Dividend is the portion of
(a) Current Assets of the company (b) Debt
() Assets of the company (d) Profit
Sranin famr 9
(8) B Tor T Hudhnit & b feze
(c) B & AuSt & (@) ®FE
119. 360 method relates to
{a) Performance appraisal ' (b) Organization climate
(c) Employer’s morale | ' (d) Retrenchment
360 fedt AgT 9 - :
(@) YTHE HSAE 5% | (b) FAE T HIS 55
() M T HOTS 518 () uIfordt S TEH 5B
Papér-ll (Commerce) . ' 24 7

L]
i
=




120. Which is-the determinant of Capita} structure ?

(a) Go’vemment pohcy o (b) Control
(c) Tax o (d) Requirement of investors
it 2R o fsaua 3= 3 -
(a) RIS SEt | ‘ () feuisas
© T - - (@) fomat H Ages
- 121. Envn'onment Protection Act is apphcable to _
' (a) Private sector enterprises . (b) Public sector enterprises
(¢) Both(a)and(b) (d) None of these
T3veds Haftr Aae & Jer J |
@ fstize@enas Gb) IR U39 GeH &
© @O (@) fegat 29 et adf
122. A theoryis _
" (a) An assumption | {b) An ‘if-then’ proposition
{c) A hypothesis (d) A validated hypothesis
- fEx Aoz 3 |
(@ fEawszr ‘ (b) fEa Aag-feg aus
() f&x ufgamusr . @) Fa yrfes ufsomus
123. In drawing a farmers supply curve for a Commodity all but which one of the following are
kept constant
(a) Technology

(b) Price of inputs

(¢) Features of nature such as climate and weather

(d) The price of the commodity under consideration
ey _
(a) SIAEHH

(b) It E A |

(0 a3 dntt fenmzet R wee M2 HAN

@) feord nidts <Rz & v
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124 'Ifthemomneelastlcltyofdanandlsyeaterthanl theoommodltyls ST

(@ A necessny ‘ ‘ _ (b) A luxury
(c)' An inferior good ' (d)  Anon related good -
ﬁaamérmmalgéu%ema | | o
- (@ fages o ) f¥x femms
(© fauwdwmeg | @ ¥ ¥ idus =g

 128. If the amount of oommodify purchased remains unchanged when the price of | another
: ‘commodity changes, the cross elasticity of demand between them is: _
" (a). Negative (b) Positive - (c) Zero @ 1
mmw@amammﬁamamma?mamm
36 3, Qust feoara A S et 39 Y -

@ fEam b w3 ‘_(c)_ﬁwaa @1

126. If MRSy, for individual A exceed the MRSXY for B, it is possible for individual A to gain
by giving up - ‘
(@ Xin exchange of more Y from B
(b) Y in exchange for more X ﬁ'om B
(c) EitherXorY.
(d) We cannot say without additional information

Aerg Renirdht A 5t MRSy fenardt B 9 MRSyy ¥ 202, femaanaa&nerfanm
I3 B'F YOS J9aT AT I ¢

@ BaBnwtmyds®X = () BIaEEwXJsBY
(o AXAY | @) TG s It ot afy R
127. Consider the following types of income | :

1.  Personal Income S 2 bispo_s’able hwome

3. Private Income ] .~ 4, National Income

The correct sequence in descending order of their magnitude is _ __
@ 42,1,3 ® 4231  © 2431 @ 2,413
wmmmmamﬁ - |

1. fomaftors ninves -2 YT HES

3. &t nmes o 4, TIHSH nmEs

@ 4213 . O 4231  © 2431 @ 2413
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128. The burden of a tax on monopoly profit will be:

129.

(a) Entirely on the product  -+'+ -

(b) Entirely on the consumer _
(c) Equally distributed among the producer and the consumer
(d) More on the consumer than the producer

Bafuary &3 §3 I9 °F 379 R ;.

@ ydrsgeng 3

® udtsgeSaw ey

(© @m»@&mmm?&w%
@ Qaweamﬁuamaf %%‘u o

Identify the items which are not as opening expenses

(a) Loss on sale of motor car (b) General management salancs
(¢) Deprecidtion of office eq’tﬁmheﬂts - (d) Advertising expenses

Wet & ufgarE a9 A ggarst uee &t I8 ¢ |

(¢) T=3t A AHS o fuRree @ Y= uwR

130.

A primary reason why nations conduct international trade is because:
(a) Some nations prefer to produce one thing while others produce other things.
(b) Resources are not equally distributed among all trading partners.

~(¢) Trade enhances opportunities to accumulate profits.

()] Interest rates are not identical in all tradmg nations.
f&a Wy args, THES nisTeHed TuUd a8 F9T I5, 1%:@1%(

(a) ,wmﬁama@wmxmﬁ%m ﬂ?f&?ﬂ%aﬂmwv

(b) m%maﬂﬁmaﬁwﬁaﬁﬂmaﬁfe%g%

131.

() mmmﬁsm%ﬂéw@w%
(d) maa%w%éwﬁa&mmeafmm"ras

Relatlve to Countries wnth low ratios of exports to GDP ‘Countries havmg high exports to

GDP ratios are ______ vulnerable to changes in world market.

(@ Less (b) More (c)- Equally - (d) Any ofthe above

fsqwrst 3 GDP ¥ ufar nigurs @@ W ¥ Hored f5gwrs 3 GDP yss Jx T IR TE |

(a) ule (b)) wiftx (c) PH& @ Btﬁas&é}ér
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132.

133.

1.

135.

136.

Contradiction to Hecksher-Ohlin theory is . o

(a) Smith Paradox ‘ (b) Leontief Paradox -

(c) Arrow’s Paradox | (d) Veblen Paradox oy
JYang-Cfufes oz T dss 3 ¢

(a) nie fedaar () feBxfeg fedusm

(c). w9 e fegusm @ Jums fegush

Let elasticity of demand for exports for a certain country be e, and elasticity of demand for

imports be e, Assume that the country devalues its currency. Its balance of payment will -
certainly show an improvement if '

(8) e=em=1  (b) etem>1 (c) extem<l (d extem=1
Yis o fait 30 2 f5awst B8t 1 B9 o, I W3 WSt et 1 B9l e 3 | WA B0 2W
WEt HeEdT @ niRUBE ader 3, fene 39S Ages 9T AU forfes dedr nae

(@) ex=em=1 ®b) ext+en>1 () e+em<l @ etem=1
If prices rise, the direct real burden of public debt will:

(a) also increase _ (b) fall

(c) remain unchanged (d) be uncertain

5T A3t Juehnt U6, HISHES 98 T Y niRs YI'< d<dr

(8 =har | () w2ar

(c) Ffag qar . (d) nfsafes 3

For a monopolist price is 16 and marginal revenue is 4, the elasticity of demand will be '
(@ 43 ®) 3/4 © 4 @ 14
arfoarst 3 16 I »i3 AHIS nimees 4 3, Har S o Jeatt

(@) 43 ®) 3/4 ) 4 @ 14

A perfectly competitive firm faces Profit = ¥ 4 and Total Cost = Q* — 7Q? + 12Q + 5 where

Q is the quantity sold. The profit earned when 4 units of quantity are sold is:

(a T 10 ® T : ) T2 d T 24
gy s s a8 fider Y4 @ 3 B S93 Q' - 7Q7 +12Q+5 , @ Q
] & T IR 4 TR Tt AR TE T EF T :

(a) 109 () 113w (© 203 d 243R
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137. The short run supply curve of the perfectly competitive firm is given by:

(a) The rising portion of its MC curve over and above the shut-down point
(b) - The rising portion of its MC curve over and above the break-even point
(¢) The rising portion of its MC curve over and above the AC curve

138.

139.

140,

(d) The rising portion of its MC curve

Wamm_ﬁwyaﬂéaaﬁﬂﬁﬁ%:
(a) fERE MC 3539 € Jue fIA »3 He 3785 filg 3 Bus
() Feret MC 359 2 S0 iR w3 Y dhes e 3 Bwe
(c) ferdt MC @ & T IR w3 AC Fa9 F Bus

(d) ferRtMC 393 €

If the demand curve for a monopolist’s commodity are identical in two separate markets,_

then by practising third degree price discrimination the monopohst

(@) Will increase TR and Total profits
(b) Can increase TR and Total profits
(c) Cannot increase TR and Total Profits

(d) Will charge a different price in different markets
nad Eafaardt ang & Har 29w € Fu-Fy Fwat 9 AN 3 3P M Ta © otk fede

Bar & EFrfuardt _
(@ TR "3 d% & IOedr )
(© TR 3 d® &8 & a0 Aer d
When TP falls :

(a) The AP, 1s zero (b
(c) The AP, . is negative (d
e TP Wit 3 o

(®) APupoy fET Y S ®
(©  APpgbour TIHI I @

All the following curves are U shaped except

(@ TheAVCcurve (b) The AFCcurve (c)

J5t i3 A T9a U w9 35, ferg o
(8 AVC @ (b) AFC &g ©

29

TR »2 % &8 T ARTT 9
Y- gAat 9 FU-TY otHS BT

The MP,,. . is Zero

The AP, ,, is declining

MPupo AT 3
APy UIT J

The ACcurve (d) The MC curve

AC Tdd d MC<g
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141 An entrepreneur running a business takes out ¥ 20,000 year as ‘salary’ from the total
receipts of the firm. The implicit cost of this entrepreneur is: s
(a) k 20,000 year , (b) More than T 20 000 year g
(c) Less than ¥ 20,000 year - (d) Anyofthe aboveis posssble
g Goit gar Inff 5 Yusint &5 20,000/- A& m’%sa‘%dw% | @éﬁr
LA fafos e Y e
(@) 20,000 U FEE . ® 000FEE T |
© 20,000§u§nm§f'tﬁz | @ @uaazaséfnae%
142. If MU of the last unit of X oonsumed is twice the MU of the last umt of Y qonsmned, the
consumer is in equilibrium only if '
(a) The price of X is twice the price of Y
(b) The price of X is equal to the price of Y |
- (¢) The price of X is half the price of Y RS TS ¥
" (d) Any of the above is possible ST SIS
) ﬁmxém%aﬁ%@uwémeﬁﬂﬁHW%@mﬁm% |
GusaisT Azws 9 I Rag
@ xddEy@dEIEd ) XAMhEYIHSTIEY .
©) XSz Y Fetus @ ot d ) Cuisz I3 & Age st Y
143. Sales of fixed assets to foreigners is : - e .
(@)  Export of goods . () Unrequiredreceipts . . . . ..,
(c) Capital receipts (d) Noneoftheabove. . . ..
%aﬁ%ﬁanﬁam@wér%gé s
@ wEgfefsws 0 (b)) WA EE
© UWB"-I’US"TW ' * (@ Susas gt &t -
144. The law of reclprocal demand is assoclated with
(2) Alfred Marshall = ®) LsMill”
(¢) David Ricardo (d) Noneof the above -
yamug M & faun Aeas D | l' o
() PIBTIS HITHS & (®) ﬁrﬁﬂﬁmm
(c) 3fes foores o @ Gudzastsdt
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148.

. l“.

147.

148,

149,

IMF deals with

(@ Developmental finance  ° (b) Managing balance of payment
(c) Free Trade (d) Maintain of peace among nations
IMF fg a9 ) ; |
(@ femmddtfsss (b) TS AT YEA &G
© mWE=sswE | (@) I fegara wist arfew dus ww
Budgetary deficit does not take into acoount .
(a) Revenue deficit (b) Capital budget deficit
(c) Balance of payment deficit (d) Interest payment on public debt
we w f¥9 feg mriis adt ger 3 - o
(@ wesweE () YIS e wre
(€) FAI® RIS e | (d) Fowena 3 faz 3 fenim 3=
Keyneslans favour |
(a) Fiscal policy (b) Monetary policy (c) Creditpolicy (d) Income policy
ABHME FHIES T T6: j , '
@ ISR ) AR () AwAH (@ »mes A
‘Sensitive Sector” as defined by RI include :
(a) Capital market (b) Real estate (¢) Commodities (d) All of the above
RI @r3" ygrfis3 FReaHB 339 mhis D |
(@ Ut = b)) RSt (o T @ 8333
Which of the following is termed as Money Multiplier |
(@) Ratio of M, to M, (b) Ratio of M, to M,
(9 Ratioof M, to M, S (d) Ratio of Mjto M,
a@@ﬁ»ﬂﬁammméﬁémwa
@ M BMOETWN'B (b) My3 M, & nigur3
© M, FMEms @ M3 M, T nizurs
Which of the following is the most volatile flow of foreign exchange ?
(a) Foreign direct investment (b) External assistance
{c) ' Foreign Institutional Investors (d). External commercial borrowings
et fefant RS faoar fedmlt weted o e F 3 ufseozarts yweo 3
() 3 feert fsim : () =TSt AfgGa
(c) feft v fatm - @ T I ue
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